From White Rose Maths schemes for Year 2 Autumn Term
BLOCK 3 - MONEY



@ Count the money.
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e Dexter has this coin.

Alex has These coins.

Who has the most money?
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€ Match the money to the correct amount.

£20

£S5

£10
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O A bag costs £H7

A coat costs 63 ‘

How much more does the coat cost?

\ _

O Complete the part-whole models.
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& Evo has 80p. @

Dora has |6p more than Eva. —

Circle the coins that Dora has.
=

) Ron has HOp in his money box. @® ‘

-

He has exactly 6 coins.

Tick the coins in Ron’s money box.




& Here is o cafe price
list for sandwiches.

Tormmy buys two sandwiches.

The tfotal cost is 68p.
Which Two sandwiches does he buy?

and

Rosie buys an egg sandwich.

She pays with a single coin.

Here is her change.

What coin did Rosie use fo pay?
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Answers

O <op

32p
e Dexter has the most money.

0 chicken ond jom

Rosie used a fl coin.
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